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1. EDTA, ethylenediaminetetraacetic acid A
D Ans

2. EDTA A
D Ans

3. A NaOH
D Mg(OH), Ans

4, A =abc A A B

D c Ans.
5. AgCl  Ksp=182x101°

A 010MNaCl B 010MNaNOs; C 0.10 MAgNOs
6. A B
7 NaOH

D

D>

B NaCO; C

a

AgCl

C

I . I I .

ml. (HalH) ml. (HaDH) ml. (HalH)
8. Cu | CuSO, (0.0200 M) || AgNO3 (0.0200 M) |Ag

B C Cu
9. aMnO; +bC,02 +cH'

A 24 B 3 C 43 D 51 Ans

ml.

d Mt + e CO, +f H,0O

(1a0H)

A
D Ag

1 2
C
C T
KHP
C b
Ag"
ANs,
D Ans
Ans
Ag Ans

atb+c+d+e+f =

10.0.10 M 100 pH A 1 B 3 C 10 D 100 Ans.
11. A pH B
C D 10 pH

12. A M,mega 10° B mmicro,10° C  m, milli, 103

D n, nano, 10*? Ans.
13 A pH B Ag/AgCl

C D Ans
14. 50.00mL  HCI 2500mL 0.100M  NaOH HCI

A 0200M B 00500M C 250M D 200M Ans

15. GC A B FID

C D Ans
16. A AA B IR

C UV-VIS D mass Ans

Ans:




17. Xi 25.53, 24.68, 24.77, 24.81, 24.73 A median 2477 B

7=(i%xi)/5 C s= -% (;(i‘y) D Ans:
18. AgCl  Ksp=1.82 x10 *° A 1.82 x10 **Mm B log 1.82 x10 ° M
C 18 x10% ¥2Mm D 182 x10 *M  Ans
19. Cs~Cs A GC B IR C UV-VIS D NMR
Ans
20. 74.551 g/ mol 0.4000 AgNO3 0.7166 AgCl  143.321 g/ mol
KCl A 932% B 558% C 520% D 250% Ans
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1. What is the pH value when 1.000mL 1.0x10™*M HClaq are diluted to 10.00L?

2. Describe the preparation of 100mL of 5.0M HCI from acommercid acid solution that has a specific gravity of 1.18 and is
37%(w/w) HCI(36.5g/mal).

3. What isthe solubility of Ba(103), (Ksp 1.57x10 °) in asolution prepared by mixing 100mL of 0.100M Nal O3 with 100mL of
0.0200M Ba(NOs)s.

4. A solution which made by dissolving 0.1070g of KI103(214.00g/mol) in water, adding alarge excess of Kl, and acidfying with
HCI, was used to standardize N&S,03 standard solution. The liberated I, required 42.00 mL of the S,04?  solution to decolorize
the blue starch/iodine complex. Caculate the molarity of the NS, Os.

5. The most widdly used type of HPLC is partition chromatography, in which the stationary phase is a second liquid thet is
immisable with the liquid mobile phase. Make a clear distinction between two types of partition chromatography based on the
relative polarities of the mobile and Stationary phases.

6. While using Beer's Law, it is advisable to select awavelength band near the wavelength of maximum absorption to avoid
devigions Explain why?



